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Question: 1 
   
Perform these tasks in SAS Enterprise Miner: 
• Add a Decision Tree node, as shown below. (Make sure you use only default options in the Decision 
Tree node.) 

  
• Run the Decision Tree node. 
What is the probability that TARGET=0 for ID=000355 in the training data? 
Response: 
 
A. 0.9341825902 
B. 0.9220647773 
C. 0.077935227 
D. 0.0658174098 
 

Answer: B 
 

Question: 2 
   
-> Add a Decision Tree node after the Impute node with TARGET as the dependent variable and all other 
input variables as independent variables (main effects only).  
- Allow for 1 substitute rule in case the variable for the primary splitting rule is missing. 
- Disable pruning for the decision tree.  
-> Add another Neural Network node after the decision tree with TARGET as the dependent variable and 
all other input variables as independent variables (main effects only).  
- Configure the Neural Network model to use Average Error for Model Selection Criterion. 
-> Run the process flow. 
What is the number of input variables being used by the Neural Network Model? 
Enter your numeric answer in the space below: 
Response: 
 
A. 16 
B. 10 
C. 11 
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D. 13 
 

Answer: A 
 

Question: 3 
   
Which of the following is not true about results produced by the Regression node? 
Response: 
 
A. Model Information provides you with information that includes the number of target categories and 
the number of model parameters. 
B. Variable Summary information identifies the roles of variables used by the Regression node. 
C. Type 3 Analysis of Effects provides you with information about the number of parameters that each 
input contributes to the model. 
D. Fit Statistics can provide information that affects decision predictions, but does not affect estimate 
predictions. 
 

Answer: D 
 

Question: 4 
   
Perform these tasks in SAS Enterprise Miner: 
• Add a Decision Tree node, as shown below. (Make sure you use only default options in the Decision 
Tree node.) 

  
• Run the Decision Tree node. 
What percentage of all observations is being correctly predicted in the test data set by the decision 
tree? 
Response: 
 
A. 16.8874% 
B. 83.1126% 
C. 84.5212% 
D. 85.2222% 
 

Answer: B 
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Question: 5 
   
Perform these tasks in SAS Enterprise Miner: 
- Use the Regression node to build another regression model with TARGET as the dependent variable 
and all other input variables as independent variables (main effects only). 
- Configure the regression model to use Stepwise for Selection Model and Validation Error for Selection 
Criteri 
a. Do not change any other property for the regression model. 
Consider the variable TLCnt03 in the selected model. Based on the model results, changing this variable 
by 1 unit will result in which of the following? 
Response: 
A. reduction of odds for TARGET=1 by 0.3457 
B. reduction of odds for TARGET=1 by 0.708 
C. change of odds for TARGET=1 by a factor 0.3457 
D. change of odds for TARGET=1 by a factor 0.708 
 

Answer: D 
 

Question: 6 
   
Refer to the exhibit: 
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The SAS data set credit_customers contains a numeric variable units_sold that holds only the values: 1, 
2, 3, 4. Based on the settings provided in the Advanced Advisor Options, what will be the Role and Level 
of the units_sold variable when the credit_customers data set is created using Advanced Metadata 
Advisor in the Data Source Wizard? 
Select one: 
Response: 
   
 
A. Role: Interval 
Level: Input 
B. Role: Input 
Level: Interval 
C. Role: Input 
Level: Nominal 
D. Role: Rejected 
Level: Nominal 
 

Answer: C 
 

Question: 7 
   
1. Create a project named Insurance, with a diagram named Explore. 
2. Create the data source, DEVELOP, in SAS Enterprise Miner. DEVELOP is in the directory 
c:\workshop\Practice. 
3. Set the role of all variables to Input, with the exception of the Target variable, Ins (1= has insurance, 
0= does not have insurance). 
4. Set the measurement level for the Target variable, Ins, to Binary. 
5. Ensure that Branch and Res are the only variables with the measurement level of Nominal. 
6. All other variables should be set to Interval or Binary. 
7. Make sure that the default sampling method is random and that the seed is 12345. 
The variable Branch has how many levels? 
Response: 
 
A. 19 
B. 47 
C. 12 
D. 8 
 

Answer: A 
 

Question: 8 
   
An analyst is performing a market basket analysis (affinity analysis) on the purchase of Shaving Cream 
and Seltzer Water. The purchase data from a set of 250 customers is shown below: 
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What is the confidence of the rule "Shaving Cream implies Seltzer Water"? You may use a calculator for 
this question. On the certification exam, an on-screen calculator is provided for you. 
Select one: 
Response: 
 
A. 40% 
B. 57% 
C. 60% 
D. 67% 
 

Answer: B 
 

Question: 9 
   
Which statement describes the Decision Tree Split Search mechanism for categorical inputs? 
Select one: 
Response: 
 
A. All levels are weighted and the weights are used for testing. 
B. The levels that have target rate of 0 or 100% are re-binned first, then weighted and the weights are 
used for testing. 
C. The average target value is calculated for each level, and then passed on for testing if it is the optimal 
split point. 
D. A clustering mechanism eliminates observations in outlier clusters as potential split points as a first 
step. Then, for the remaining observations, the average target value is calculated for each level, and 
then passed on for testing if it is the optimal split point. 
 

Answer: C 
 

Question: 10 
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Perform these tasks in SAS Enterprise Miner: 
• Continue to use the same diagram. Define and create the data set CREDIT_SCORE for scoring. The 
variables (their roles and measurement levels) in the CREDIT_SCORE data should be set as identical to 
those in the CREDIT data. The only exception is that the scoring data does not have a TARGET variable. 
• Find the best model out of Decision Tree, Decision Tree (3-way), Regression, and Neural Network as 
defined by each of the four model’s overall performance in the validation data measured by average 
squared error. Now, use this best model to score the CREDIT_SCORE data. 
CREDIT SCORE: 
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The median of the predicted probabilities of TARGET=1 in the scoring data is in which of the following 
ranges? 
Response: 
A. less than 0.149999 
B. 0.15-0.499999 
C. 0.50-0.849999 
D. 0.85 or more 
 

Answer: A 
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